S5 EE BTEEMETHICZRIFHFTESE
SHM5E4A1BMLRME6EIA31BET

HEESFEIEA R/AA—IVAKBHERMTZRS

(B 41 : M)
# B = 28
I BEINE
1 ZMEEFE 0
ZMEE 0
ZMXES 0
2 BRI 0 0
3 ZEHBIRE 0 0
4 ZEHEFHGE 0 0
5 ZOhiRE 15
ZHF R 15
TMBHRSE 0
BEINEE (A) 15
IREER
1 EXE 820,000
BKBBICET2EHOIRESLIUVHAEMRRE 800,000
BIEERE 0
HE 20,000
2 XBEXE 0 0
3 EEE 50,000
REBHEHES 0
BIEERE 20,000
HE 30,000
4 XHEEE 0 0
5 FOiRE 0 0
6 FTiHE 10,000
TiRE 10,000
BEERTB) 880,000
LR EEEEEA) - (B) A 879,985
ATHARREL IERR BT EERE (C) 2,277,401
REAHRHIEBRBL EEE (A) — (B) +(C) 1,397,416




